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Group - A

1. Answer any five of the following questions : 2×5=10

(a) Explain briefly the meaning of the term ‘Ethics’ 2

(b) Can Ethics be regarded as a part of philosophy? 2

(c) What is Utilitarianism? 2

(d) What is meant by Paradox of Hedonism? 2

(e) Who said that man’s duty is to obey the moral law? 2
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(f) What is the nature of moral judgment? 2

(g) What is meant by Psychological Hedonism? 2

(h) What is the distinction between right action and good action? 2

Group - B

2. Answer any four of the following questions : 5×4=20

(a) Make a distinction between Ethics and natural science. 5

(b) Discuss the main points of distinction between the Ethical theory of Bentham and that

of Mill 5

(c) ‘Goodwill is good’—Discuss after Kant, the implication of this statement. 5

(d) What is capital punishment? Is it justifiable as punishment? Discuss. 2+3

(e) Make a distinction between motive and action. Which one of them is the proper object

of moral judgment? 3+2

(f) Discuss the origin and development of Practical Ethics. 5

Group - C

3. Answer any three of the following questions : 10×3=30

(a) Explain and examine Mill’s Utilitarianism as a moral standard. 6+4

(b) Givea a critical estimate of Kant’s theory of Categorical imperative. 10

(c) Explain and examine the Reformative theory of punishment. 6+4

(d) Explain the nature of Ethics. Discuss whether it is a positive science or normative

science? 3+7

(e) What is meant by Anthropocentric Ethics? Whether Anthropocentric or non

Anthropocentric is the subject natter of Practical Ethics? Discuss 3+7
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